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QUESTION 1
Which three statements about the CX300 are true. (Choose three.)

A. Additional DAEs are attached by cabling the EXP port to the PRI port.

B. The back-end connector on the Disk Processor Enclosure connects to the EXP connector on the DAE2.

C. The Enclosure Address Switch on the first DAE2 is set to 1.
D. The back-end connector on the DPE connects to the PRI connector on the DAE2.

Correct Answer: ACD

QUESTION 2

Which statement describes key differences between a CX300 and CX500 array?

A. The CX500 uses a Disk Processing Enclosure and the CX300 uses a Storage Processing Enclosure.
B. The CX500 has an equivalent I/O performance to the CX300 but has double the storage capacity.

C. The CX500 has a higher I/O performance than the CX300 and has the equivalent storage capacity.
D. The CX500 has a higher 1/0 performance than the CX300 and has double the storage capacity.

Correct Answer: D

QUESTION 3

Which three statements about a GigaBit Interface Converter (GBIC) are true? (Choose three.)
A. Single-mode optical can be used for long wavelength transmissions.

B. A GBIC can convert the SCSI protocol intoFibre Channel.

C. Multi-mode optical can be used for short wavelength transmissions.

D. Small form pluggable LC transceivers build upon the GBIC standard.

E. A GBIC terminates aFibre loop.

Correct Answer: ACD

QUESTION 4
Which two tasks can Navisphere Analyzer perform? (Choose two.)

A. comparing archived and real-time performance data
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B. tracking performance trends for Dell / EMC switches
C. tracking performance trends for hosts connected to Dell / EMC Storage Area Networks (SANS)
D. tracking performance trends for Dell / EMC storage arrays

Correct Answer: AD

QUESTION 5

What is the function of a Storage Group?

A. enable virtual expansion of RAID Groups

B. provide sharing of a LUN between both Storage Processors
C. enable heterogeneous hosts to access the same LUN

D. protect data from access by unauthorized hosts

Correct Answer: D
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